Exponents and Division

Simplify. Your answer should contain only positive exponents.
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Answers

Simplify. Your answer should contain only positive exponents.
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Exponents and Multiplication

Simplify. Your answer should contain only positive exponents,
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Answers

Simplify. Your answer should contain only positive exponents.
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Powers of Products and Quotients Date_

Simplify. Your answer should contain only positive exponents.
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Simplify. Your answer should contain only positive exponents.
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DIVIDING EXPONENTS

Simplify Simplify. Show your work
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NEGATIVE EXPONENTS
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Rewrite with positive exponents then evaluate Rewrite with positive exponents
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